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\\ Solving Sequence
1

. 15%2%3H64’4867ﬁ11%9610%>030609
A knot dlagranﬂ C1 C2 Cs C4 ¢t C11 €8  Ci0 Y

Ideals for irreducible component#ﬂ)f Xpar

I = (—14767307395u" + 20235323073u? + - - - + 98330713818b + 33355375098,
32428293291u*" — 21218621420u% + - - - 4 196661427636a + 204360671755,
B2 .. —3u—4)
I¥ = (—u'a — vda + 14u* — 2u’a — 5u® — dau — 10u? + 19b 4 9a — u + 26,
Suta — 2ula + 16u* — u?a — 8u® + a® — au — 5u® + 9a — 3u + 30, u® — u* 4+ 2u — 1)
I¥ = (19u™a + 23u'® + -+ + 20a + 27, 2u'®a + 6u'® 4+ -+ +a? — 4,
ut® — ut® — 2u 4 30t 4 4ut? — Tutt — 360 + 106 — 9u” + 3ub + 5u® — dut + 2u® — 2u + 1)
I'={b-1,20—2u+1, u*+u?—1)
15 =b-a—1,da*+a+2 u+1)
=2b—a+1,a*>—2a+5 u—1)

* 6 irreducible components of dim¢ = 0, with total 77 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
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I.

It = (—1.48 X 10'%%?7 +2.02 x 10'%u?¢ +. ..+ 9.83 X 10'°b+3.34 X 10'°, 3.24 X

1019427 2,12 1010426 4. ..4+1.97x 101 a+2.04x 1011, 428

(i) Arc colorings

()

ayp =
o= (o)
o= ()
2 + 1
a3 = u2
()
a4y = (u5 —ud + u>
—0.1648944%7 4 0.107894u26 + .
ag = | 0.150180u2" — 0.205788u26 + -
—0.160609%%7 + 0.110297u26 + -
ar = \0.227707u?” — 0.221295u26 + .
0.206489u27 — 0.182794u26 + . ..
—0.198851u%7 + 0.240301u26 + -
—0.3125094%7 + 0.216909u26 + -
0.373802u27 — 0.449982u26 + -
0.137090u27 — 0.0589378u26 + -
a10 = \ —0.199975u27 + 0.238265u26 + -
0.137090u27 — 0.0589378u26 + - - -
a10 = \ —0.199975u2" + 0.238265u36 + - - -
(ii) Obstruction class = —1

(iii) Cusp Shapes
138939169865, 27 _
196661427636

31573928977
196661427636

u26+...7

2u?"+. .. —3u—4)

— 2.21519u — 1.03915
-+ 0.595130u — 0.339216

-+ 0.789310u — 0.0177292

-+ 1.38239u + 1.44504
-+ 0.0000310478u + 0.278301

— 2.81796u — 1.93782
-+ 0.400981u — 0.382402

-+ 1.47329u + 1.50912
—0.339747u + 0.201391

+ 1.47329u + 1.50912 )

—2.13491u — 1.03465 >

—0.339747u + 0.201391

326662110881
16388452303

_ 420010681258
49165356909




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs w420+ +3u—4
Ca, 4 u®® + 100" + -+ 9Tu + 16
c3 u?® +3u?" + -+ 736u + 128
Ce6,C8, C9 w® — 3. —5u—1
C11
c7, C10 8(8u?® — 120" + .- - + du + 2)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

c1,Cs y?® — 109" + - — 9Ty + 16
C2,C4 y?® + 1877 + - .. + 8543y + 256

c3 y*® — 5y°" + ... — 238592y + 16384

€6, C8, C9 v+ 11y% 4 —5ly + 1
c11
28 27

C7,C10 64(64y + 176y + -+ 40y + 4)




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.566116 + 0.8135441
a= 0.534639 — 0.1378831
b= —0.471357 + 0.9156131

1.74883 — 2.815561

—1.14300 + 4.427751

u = —0.566116 — 0.8135441
a= 0.534639 + 0.1378831
b= —0.471357 — 0.9156131

1.74883 + 2.815561

—1.14300 — 4.427751

u = 0.805429 4 0.7486111
a= 199187 + 0.344211
b= —1.193820 + 0.4629311

4.99503 — 1.790731

—1.05075 — 2.614931

u = 0.805429 — 0.7486111
a= 199187 —0.344211
b= —1.193820 — 0.4629317

4.99503 + 1.790731

—1.05075 + 2.614931

u= 0.679059 + 0.8939681
a = —0.932511 — 0.7868491
b= 0.600465 4 1.2650701

—0.89815 + 10.647701

—3.82752 — 5.521901

u=0.679059 — 0.8939681
a = —0.932511 4 0.7868491
b= 0.600465 — 1.2650701

—0.89815 — 10.647701

—3.82752 + 5.521901

u = 0.167815 4+ 0.8523381
a = —0.800362 + 0.5933101
b= 0.442426 — 1.1545007

—3.88792 — 6.824251

—4.62158 + 6.718551

u= 0.167815 — 0.8523381
a = —0.800362 — 0.5933107

—3.88792 4 6.824251

—4.62158 — 6.718551

b= 0.442426 + 1.1545001

u = —0.838400

a = —0.287249 0.271501 —23.7360
b= —1.20069

u = —1.156720 + 0.2096371
a=—0.79174 + 1.218451
b= 0.465804 + 1.2806001

—8.43358 + 10.192601

—10.18832 — 7.639221




Solutions to I}

V=1(vol + y=1C)

Cusp shape

= —1.156720 — 0.2096371
= —0.79174 — 1.218451
0.465804 — 1.2806001

—8.43358 — 10.192601

—10.18832 4 7.639221

0.928400 + 0.7214251
1.19972 + 1.359181
—1.278550 — 0.3888941

4.61539 — 3.798491

—3.70384 + 8.509501

0.928400 — 0.7214251
1.19972 — 1.359181
—1.278550 +- 0.3888941

4.61539 + 3.798491

—3.70384 — 8.509501

—0.878060 + 0.8254091
—0.366900 + 0.4502311
0.338313 — 0.571686.1

3.34352 + 1.624961

—2.45048 + 1.418291

—0.878060 — 0.8254091
—0.366900 — 0.4502311
0.338313 + 0.5716861

3.34352 — 1.624961

—2.45048 — 1.418291

1.214650 + 0.0971511
—0.222900 — 0.9873081
—0.155309 — 0.8493721

—4.05629 4 0.931281

—2.23485 — 6.889471

1.214650 — 0.0971511
—0.222900 + 0.9873081
—0.155309 + 0.8493721

—4.05629 — 0.931281

—2.23485 + 6.889471

—0.903785 + 0.8452011
—1.078650 — 0.1175821
0.379054 + 0.7052571

3.28350 4 4.576271

—2.13594 — 7.478541

—0.903785 — 0.8452011
—1.078650 + 0.1175821
0.379054 — 0.7052571

3.28350 — 4.576271

—2.13594 + 7.478541

1.168360 + 0.4342441
0.627774 + 0.3441471
0.309881 + 1.1459501

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

—7.10420 4 2.175261

—9.93897 — 4.233351




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.168360 — 0.43424471
0.627774 — 0.3441471
b= 0.309881 — 1.1459501

—7.10420 — 2.175261

—9.93897 + 4.233351

u = —1.074080 4 0.6912251
a= 141798 — 0.692801
b= —0.422318 — 1.0383801

0.23866 + 8.486581

—4.72348 — 9.144791

u = —1.074080 — 0.6912251
a= 141798 + 0.692801
b= —0.422318 + 1.0383801

0.23866 — 8.486581

—4.72348 +9.144791

u = 1.050060 + 0.7532061
a = —2.17570 — 0.355941
b= 0.60850 —1.307171

—2.0462 — 16.74561

—5.37386 + 9.804451

u = 1.050060 — 0.7532061
a = —2.17570 + 0.355941

—2.0462 + 16.74561

—5.37386 — 9.804451

b= 0.60850 + 1.307171

uw= 0.682847

a = —0.725706 —0.926639 —11.5880
b= 0.129567

u = —0.357231 + 0.3225521
a= 0.478268 — 0.9142941
b= —0.587531 — 0.3657431

1.12674 + 1.019571

4.42993 — 4.676721

u = —0.357231 — 0.3225521
a= 0.478268 4 0.9142941
b= —0.587531 + 0.3657431

1.12674 — 1.019571

4.42993 4+ 4.676721




II.
I¥ = (—u*a+14u*+---+9a+26, 5u*a+16u*+---+9a+30, u®—u*+2u—1)

(i) Arc colorings

a0

o= (1)
0 ( )
u? +1
u2
—Uu
—u +u
(u4 —u+ 1)
a
0.0526316au* — 0.736842u* + - - - — 0.473684a — 1.36842
0.368421au* — 0.157895u* + - - - 4+ 0.684211a + 0.421053
—u4—au+u +u—2
0.736842au* + 5.68421u* + - - - 4 1.36842a + 10.8421
0.210526au* — 0.947368u* + - - - 4+ 0.105263a — 1.47368
ut — u — u —u+2
—ur 4w Fu—1
0.473684au* + 4.36842u* + - - - + 0.736842a + 7.68421
@10 = \ —0.105263au* — 1.52632u* + - - - — 0.0526316a — 2.26316

0.473684au* + 4.36842u* + - - - + 0.736842a + 7.68421
a10 = \ —0.105263au* — 1.52632u* + - - - — 0.0526316a — 2.26316

(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* + 4u? + 4u? — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1, Cs (u® +u* + 2u +1)?
Ca,C4 (u® + ut + 4u® + 2u® + du + 1)?
€3 (u® —ut 4+ 2u —1)2
CG’CS’CTT u® 4 u® 4+ 208 + 4u” + 40 + 508 + 3ut +ud +u? 1
c7,C10 ul® + 4u® + 8u® + 6u” + 6u’ + Tu® + 25u* + 43u® + 56u® + 36u + 8




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3,C5 (y° —y* 4+ 4y — 29 + 4y — 1)?
C2,Ca (y° + Ty* + 20y + 26y + 12y — 1)?
C11
10 8
C7,C10 Yy 4+ 28y° 4 -+ — 400y + 64

10



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.760506 4 0.8158921
a = —0.686158 + 0.3023071
b= 0.386464 — 0.8094211

3.01208 4- 1.138251

0.09602 — 2.340581

u = —0.760506 + 0.8158921
a= 0.658201 — 0.0658261
b= —-0.473774 — 0.4315591

3.01208 4 1.138251

0.09602 — 2.340581

u = —0.760506 — 0.8158921
a = —0.686158 — 0.3023071
b= 0.386464 + 0.8094211

3.01208 — 1.1382571

0.09602 + 2.340581

u = —0.760506 — 0.8158921
a= 0.658201 + 0.0658261
b= —-0.473774 + 0.4315591

3.01208 — 1.1382571

0.09602 + 2.340581

u = 1.001870 4 0.7417641
a = —1.06668 — 1.090681
b= 1.129990 + 0.1834341

1.49357 — 10.611301

—2.76481 + 7.854541

u = 1.001870 4 0.7417641
a= 2.24279 + 0.229031
b= —0.67647 4 1.30286.1

1.49357 — 10.611301

—2.76481 + 7.854541

u = 1.001870 — 0.7417641
a = —1.06668 + 1.090681
b= 1.129990 — 0.1834341

1.49357 + 10.611301

—2.76481 — 7.854541

u = 1.001870 — 0.7417641
a= 2.24279 — 0.229031
b= —-0.67647 — 1.302861

1.49357 + 10.611301

—2.76481 — 7.854541

u= 0.517281

a = —4.14815 + 3.152991 —4.07650 —8.66240
b= 0.133790 — 1.0265001

u= 0.517281

a = —4.14815 — 3.152991 —4.07650 —8.66240

b= 0.133790 + 1.0265001

11



IIL I¥ =
(19ut®a+23u®+. . .+20a+27, 2ut®a+6ut®+. . -+a?—4, u'®—ul®+...—2u+1)

(i) Arc colorings
1
ayp = 0
as =
[
az =

ag =

a
—0.358491au!® — 0.433962u'® + - - - — 0.377358a — 0.509434)

0.943396au'® 4+ 0.773585u'® + - - - + 0.150943a — 1.39623
—0.811321au™ — 1.24528u'® + - .- — 0.169811a + 0.320755

0.433962au'® + 2.73585u' + - - - 4+ 0.509434a + 1.03774 >

ag =

—0.339623au'® — 0.358491u'® + - - - — 0.0943396a — 1.37736

2utt fultd 4 w2
ul® —2uM 4. 20— 2

—0.377358au'® + 1.49057u'® 4 - - - + 1.33962a + 0.358491
0.509434au' — 0.962264u'® + - - - — 0.358491a — 0.433962

—0.377358au'® + 1.49057u'® + - - - 4 1.33962a + 0.358491
a10 = \ 0.509434au'® — 0.962264u'® + - - - — 0.358491a — 0.433962

<
<
<
( 3
A
<
<
<
<
<

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'? — 8u'® + 16u® — 4u” — 161’ + 8u® + 12u* — 8u3 — 4u? +4u —6

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C5 (' +ul® 4+ 4 2u 4 1)2
Ca,Cy (u'® +5u® - — 4u? 4+ 1)?
03 (ulﬁ_u15+..__2u+1)2
Ce, C8, C9 W2 453 b £ 8u 1
C11
c7,C10 w4+ — 4020+ 73

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€1,C3,C5 (y'0 — 5y'® - —dy? +1)?
2, ¢4 (y'® + 11y" + - — 8y +1)?
C6, €8, C9 v 21t 6y +1
C11
c7, C1o Y% — 15y3 + ... — 89626y + 5329

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —1.017320 4 0.1910911
a= 0.77304 — 1.408861
b= —0.436018 — 1.3106501

—4.37117 + 5.296221

—8.10789 — 6.282961

u = —1.017320 + 0.1910911
—0.080344 + 0.1452571
b= 0.930500 4+ 0.0537731

—4.37117 + 5.296221

—8.10789 — 6.282961

u = —1.017320 — 0.1910911
0.77304 + 1.408861
b= —0.436018 + 1.3106501

a =

—4.37117 — 5.296221

—8.10789 + 6.282961

u = —1.017320 — 0.1910911
a = —0.080344 — 0.1452571
0.930500 — 0.0537731

—4.37117 — 5.296221

—8.10789 + 6.282961

= 0.908738 + 0.2524771
0.160770 — 1.4020601
0.185966 + 0.2484131

—3.61825 — 0.252701

—6.38985 4 0.965111

0.908738 + 0.2524771
= —1.69112 — 0.972891
= —0.058000 — 1.1146001

—3.61825 — 0.252701

—6.38985 4 0.965111

= 0.908738 — 0.2524771
0.160770 + 1.4020601
0.185966 — 0.2484131

—3.61825 + 0.252701

—6.38985 — 0.965111

0.908738 — 0.2524771
—1.69112 4 0.972891
—0.058000 + 1.1146001

—3.61825 + 0.252701

—6.38985 — 0.965111

0.708362 + 0.6114011
= —1.56409 + 0.564711
0.153564 — 1.3824201

—3.61825 + 0.252701

—6.38985 — 0.965111

0.708362 + 0.6114011
= —1.17703 — 1.585361
= 0.608496 + 0.9235491

—3.61825 + 0.252701

—6.38985 — 0.965111

15



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= 0.708362 — 0.6114011
= —1.56409 — 0.564711
0.153564 + 1.3824201

—3.61825 — 0.252701

—6.38985 + 0.965111

0.708362 — 0.6114011
= —1.17703 + 1.585361
0.608496 — 0.9235491

—3.61825 — 0.252701

—6.38985 + 0.965111

0.724199 + 0.8263881
0.873040 + 1.0190501
—0.667529 — 1.2334401

2.34449 + 4.735661

—1.11364 — 2.915881

0.724199 + 0.8263881
—1.62577 — 0.213921
1.060700 — 0.2327601

2.34449 + 4.735661

—1.11364 — 2.915881

0.724199 — 0.8263881
= 0.873040 — 1.0190501
—0.667529 + 1.2334401

2.34449 — 4.735661

—1.11364 + 2.915881

0.724199 — 0.8263881
—1.62577 4 0.213921
1.060700 + 0.2327601

2.34449 — 4.735661

—1.11364 + 2.915881

—0.866890 + 0.6962741
1.92331 + 0.560411
—0.212635 + 1.0148201

—0.93480 + 2.676071

—0.38861 — 3.324151

—0.866890 + 0.6962741
2.69221 — 1.749301
—0.171716 — 1.0894901

—0.93480 + 2.676071

—0.38861 — 3.324151

—0.866890 — 0.6962741
1.92331 — 0.560411
—0.212635 — 1.0148201

—0.93480 — 2.676071

—0.38861 + 3.324151

= —0.866890 — 0.6962741
= 2.69221 4 1.749301
= —0.171716 + 1.0894901

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—0.93480 — 2.676071

—0.38861 + 3.324151
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Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

0.960503 + 0.6542821
0.874727 — 0.5114651
0.27490 4 1.492321

—4.37117 — 5.296221

—8.10789 + 6.282961

0.960503 + 0.6542821
—2.47726 — 0.174571
0.723528 — 1.1035101

—4.37117 — 5.296221

—8.10789 + 6.282961

0.960503 — 0.6542821
0.874727 + 0.5114651
0.27490 — 1.492321

—4.37117 + 5.296221

—8.10789 — 6.282961

0.960503 — 0.6542821
—2.47726 4 0.174571
0.723528 4+ 1.1035101

—4.37117 + 5.296221

—8.10789 — 6.282961

—0.977539 + 0.7499411
0.262243 — 0.2312167
—0.494890 + 0.2562591

2.34449 + 4.735661

—1.11364 — 2.915881

—0.977539 + 0.7499411
—1.72382 + 0.295691
0.336437 + 0.9406811

2.34449 + 4.735661

—1.11364 — 2.915881

—0.977539 — 0.7499411
0.262243 + 0.2312161
—0.494890 — 0.2562591

2.34449 — 4.735661

—1.11364 + 2.915881

—0.977539 — 0.7499411
—1.72382 — 0.295691
0.336437 — 0.9406811

2.34449 — 4.735661

—1.11364 + 2.915881

0.059947 + 0.6228521
0.467003 — 0.8906211
—0.378599 4 1.0752601

—0.93480 — 2.676071

—0.38861 + 3.324151

0.059947 + 0.6228521
—1.186920 + 0.5551311
0.645301 + 0.1319281

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

—0.93480 — 2.676071

—0.38861 + 3.324151
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

= 0.059947 — 0.6228521
= 0.467003 + 0.8906211
—0.378599 — 1.0752601

—0.93480 + 2.676071

—0.38861 — 3.324151

0.059947 — 0.6228521
= —1.186920 — 0.5551311

U
a
b
U
a
b= 10.645301 — 0.1319281

—0.93480 + 2.676071

—0.38861 — 3.324151
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IV. I} =(b—1, 2a—2u+1, u3+u?—-1)

(i) Arc colorings

o= (o)

0
a5: u
1
ag = U2
—u?+1
a3: u2
—u
a6 = \yl+u—1
—u?+1
a4: U2
=i
ag = 1
iu
ar= \Ju2 +fu+
u—&-%
ail = 1
2u
a9 = 2
LI
= 1,271 3
@10 = \—qu” —qu+3

(ii) Obstruction class =1

(iii) Cusp Shapes = 2u? + 1Ty + 7

19



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ud +u? -1
C2 W4+ 2u+1
3 w3
C4 w—u?42u—1
Cs ud —u?+1

cg, C8 (u+ 1)3
cr 8(8u® + 4u? 4+ 4u + 1)

€9, C11 (u—1)3
c1o 8(8u® — 4u? 4+ 4u — 1)

20



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cs v -yt 2y —1
C2,Cyq Y+ 3yt +2y—1
c3 y3
CGaCSaCQ (yi 1)3
c11
c7, C1o 64(64y> + 48y + 8y — 1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} vV—1(vol +/—1CS) Cusp shape
u = —0.877439 + 0.7448621
a=—1.37744 4+ 0.744861 4.66906 + 2.828121 | —1.06503 — 2.389691
b= 1.00000
u = —0.877439 — 0.7448621
a=—1.37744 — 0.744861 4.66906 — 2.828121 | —1.06503 + 2.389691
b= 1.00000
u= 0.754878
a= 0.254878 0.531480 7.38010
b= 1.00000
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V.I!=(b—a—1,a*4+a+2, ut+1)

(i) Arc colorings

o= (o)

a5 =
ag =
az =
ag =

aq =

(ii) Obstruction class = —1

(iii) Cusp Shapes = —14
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cs5,C7 (u_ 1)2
€10
1 2
C2,C3,Cy4 (U + )
C6,C8, C9 w4 u+2
C11
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5,C7

C10

Ce, C8, C9

C11

y2+3y+4
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = —1.00000
a = —0.50000 + 1.32288] | —8.22467 —14.0000
b= 0.50000 + 1.322881
u = —1.00000
a = —0.50000 — 1.32288] | —8.22467 —14.0000

b= 0.50000 — 1.322881
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VL IY=(2b—a+1, a*—2a+5, u—1)

(i) Arc colorings
1
ayp = O
a5 =
as =
az =

ag =

- >
ag = 1.1
8 20— 3
1 1
20~ 3
a7 = -1
1. _3
20— 3
ail = —1
1 1
20— 3
ag = 0
1
5@

(
(
(
(
o= (i
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes = —12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C4 (u — 1)2
2
C2,Cs (u + 1)
€3,C6,C8 w41
€y, C11
¢ u? — 2u+2
Cc10 u2 +2u+2
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)2
Cs
€3,C6, C8 (y + 1)2
Cg, C11
2
7,10 Y- +4
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(vi) Complex Volumes and Cusp Shapes

Solutions to I vV—1(vol +/—1CS) Cusp shape
u = 1.00000
a = 1.00000 + 2.000001 —4.93480 —12.0000
b= 1.0000001
u = 1.00000
= 1.00000 — 2.000001 —4.93480 —12.0000
b= — 1.0000001
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VII. u-Polynomials

Crossings u-Polynomials at each crossing
¢ (u—DMW +u? = D® +ut +2u+ D2 +u® + -+ 2u+1)2
(U 420 4 4 3u—4)
o (w+ D)4 (u® +u? + 2u+ 1)(v® + u® + 40> + 20 + 4u + 1)?
(W 5ut =4 1)) (6 1067 4 -+ 9Tu + 16)
cs uwd(u+1)%(u? + 1)(u® — ut + 2u — 1)3 (!0 —u'® + - — 2u 4+ 1)?
(u”® 4 3uT + -+ T36u + 128)
4 (w—1)%(u+1)%(u® — u® + 2u — 1)(u® + u* + 40> + 20 + 4u + 1)?
(W 5ut =4 1)) (6 1067 4 -+ 9Tu + 16)
cs (w—1)%(u+1)%(u® —u? + 1) (u® +u* 4+ 2u +1)?
(W w20+ 1)) (P 20+ 4 3u—4)
(u+ 1) u? + 1)(u? +u+2)
C6, C
o (4w 4 2uB 4 4 4 4u8 5t 3t ud U 4 1)
(B =30+ —bu— D)W 4+ 5B 4 4 8u+ 1)
o 64(u — 1)%(u® — 2u + 2)(8u® + 4u” + 4u + 1)
(' 4u® + 8u® 4 6u” + 6u’ + Tu® + 25u* + 43u® 4 56u? + 36u + 8)
S(8u® — 12027 + - du+ 2) (WP F Ut - — 402u + 73)
e (u—1)3u? +1)(u® +u +2)
9, C11
(4w 4 2uB 4 4 4 4uS + 5u® 3t U w4 1)
(W =3+ =By — D)W 5B 4+ 8u+ 1)
64(u — 1)%(u® 4 2u + 2)(8u® — 4u” + 4u — 1)
C10

(' 4u® + 8u® 4 6u” + 6u’ + Tu® + 25u* + 43u® + 56u” + 36u + 8)
C(8u® — 12027 + - du+ 2) (WP F Ut 4 — 402u + 73)
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VIII. Riley Polynomials

Crossings Riley Polynomials at each crossing
e, (=D —y* +2y = D" —y' +4° - 2% + 4y — 1)°
(" =5y - = dy? +1)%) (v — 10y°T + - — 9Ty + 16)
e, 4 (y = D'(y° +3y" + 2y — )(y° + Ty" +20y° + 26y° + 12y — 1)
(" 11y 4= 8y + 1)) (v + 1877 + - - 4 8543y + 256)
c3 V-1 y+ 10 -y + 4 -2 + 4y —1)°
(Y =5y" 4 —4y® +1)%) (7 — 5y + - - - — 238592y + 16384)
—1)3 D?(y* +3y+4
Cg, Cg, Co (y )(y+ )(y + 9y + )
1 (Y0 3y% 4+ 4y® — Ay — 1245 — 3¢5 + 11yt 13y + Ty 4 2y + 1)
B 1y 4 =Bl + D) (32 2193 4 Gy 1)
4096(y — 1)2(y* + 4)(64y> + 48y + 8y — 1)
C7,C10

(y'" +28y" + - — 400y + 64) (64 + 176y + -+ + 40y + 4)
(y®? — 15" 4 - - - — 89626y + 5329)
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